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Problem 1 

    As indicated in the given circuit, the currents through the 
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W

 and the 
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 resistors are 
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 and 
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, respectively. Calculate:

a) The value of the supply voltage 
[image: image5.wmf]s

V

.

b) The value of the unknown resistance 
[image: image6.wmf]R

.


c) The power absorbed by the 
[image: image7.wmf]80

V

 source. (Indicate if this power is actually absorbed or actually delivered).

d) The power absorbed by 
[image: image8.wmf]s

V

. (Indicate if this power is actually absorbed or actually delivered).
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	Answer:

a) 
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=


b) 
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c) 
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P

=


(Actually absorbed)  
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(Actually delivered)  
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d) 
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(Actually absorbed)  
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(Actually delivered)  
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Problem 2 

    In the circuit shown:

a) Find the Thevenin's equivalent circuit seen between the terminals "a" and "b".

b) A load resistor 
[image: image18.wmf]L

R

 is to be connected between "a" and "b". Calculate the value of 
[image: image19.wmf]L

R

 for maximum power transfer.

c) Calculate the maximum power transfer to 
[image: image20.wmf]L

R

.
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	Answer:

a) 
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b) 
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c) 
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Problem 3 

    In the circuit shown, the switch remains in position (1) for a long time. It is suddenly moved to position (2) at 
[image: image26.wmf]0
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. Find:

a) 
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 for 
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      and      
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 for 
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.

b) 
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 for 
[image: image32.wmf]0

t

<

     and      
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 for 
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.
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	Answer:

a) 
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Problem 4 

    For the circuit shown, find the steady-state current 
[image: image38.wmf]()

it

.

[Hint: Use superposition].
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	Answer:
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Problem 5 

a) As shown in the given circuit, loads A and B are connected series. Load A absorbs 9KW at a power factor of 0.60 (leading). The complex power absorbed by circuit B is given by 
[image: image41.wmf](80008000)[]
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. The source frequency 
[image: image42.wmf]f = 60Hz

.

Use the given information to calculate the phasor current 
[image: image43.wmf]I

 in rms units.
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	Answer:
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b) In the circuit shown below, load A consumes 5.9 KW at a power factor of 0.70 (lagging). A capacitance 
[image: image46.wmf]C

 is connected in parallel with load A, so that the combined load has a unity power factor. The source frequency 
[image: image47.wmf]f = 60Hz

.

Calculate the value of 
[image: image48.wmf]C

in Farad.
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	Answer:
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